	LEGISLATIVE ORDER OF THE TOHONO O'ODHAM COUNCIL (Rules Committee to develop a travel policy in 30 working days for an internal						
1	policy for th	e Legislative Branch and address the concerns regarding the airfare,					
2		lodging, meals and monies remaining from perdiem)					
3		LEGISLATIVE ORDER NO. <u>96-064</u>					
4							
5	WHEREAS,	on Friday, February 09, 1996 the Tohono O'odham Legislative					
6 7		Council reviewed their agenda established for the day; and					
8 9	WHEREAS,	the Legislative Council amended the agenda per Legislative Order					
10		96-057 to include the issue on travel policy; and					
11 12	WHEREAS,	the Rules Committee has stated that there is no travel policy in					
13		place and the committee has met with the Chairman of the Nation,					
14 15		Legislative Officers and the Judicial Branch to discuss a overall					
16		travel policy for the Nation; and					
17 18	WHEREAS,	upon further discussion, there were questions and concerns					
19		regarding the balance of remaining funds given for airfare, lodging					
20							
21		and meals which was not clearly stated in approval of resolution 96-					
22		063 (Approval of Tohono O'odham Nation Travel Policy); and					
23 24	WHEREAS,	a motion was made to have the rules committee develop an					
25		internal policy for the Lagislative Branch and to address the					
26		internal policy for the Legislative Branch and to address the					
27		concerns as mentioned.					
28							

	LEGISLATIVE ORDER NO. <u>96-064</u>									
	(Rules Committee to develop a travel policy in 30 working days for an internal									
1	policy for the Legislative Branch and address the concerns regarding Airfare, Lodging, Meals and monies remaining from perdiem) Page 2 of 3									
2										
3										
4	NOW, THEREFORE, BE IT ORDERED by the Tohono O'odham Legislativ									
5	Council that it hereby directs the Rules Committee to develop an									
6 7	J I									
8	internal travel policy within 30 working days for the Tohono									
9	O'odham Legislative Branch.									
10	BE IT FINALLY RESOLVED the policy would address concerns regarding th									
11										
12										
13										
14	The foregoing Order was passed by the Tohono O'Odham Legislative Council on									
15	the <u>09TH.</u> day of <u>February</u> , <u>1996</u> at a meeting at which a quorum was present with a vote of <u>980.0</u> FOR; <u>709.0</u> AGAINST; <u>187.0</u> NOT VOTING; and <u>(5)</u> ABSENT,									
16	pursuant to the powers vested in the Council by Section <u>1(a)</u> of Article VI of the									
17	Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham									
18	Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16									
19	of the Act of June 18, 1934 (48 Stat. 984).									
20										
21	TOHONO O'ODHAM LEGISLATIVE COUNCIL									
22										
23	A D									
24	Dennis Ramon, Legislative Chairman									
25	Dennis Ramon, Legislative Chairman									
26										
27										
28										

LEGISLATIVE ORDER NO. 96-064 (Rules Committee to develop a travel policy in 30 working days for an internal policy for the Legislative Branch and address the concerns regarding Airfare, Lodging, Meals and monies remaining from perdiem) Page 3 of 3 **ATTEST:** Frances artme Frances Antone, Legislative Secretary

LEGISLATIVE ORDER NO. _96-064

ACTION: RULES COMMITTEE TO DEVELOP A TRAVEL POLICY IN 30 WORKING DAYS FOR AN INTERNAL POLICY FOR THE LEGISLATIVE BRANCH AND ADDRESS THE CONCERNS REGARDING THE AIRFARE, LODGING, MEALS AND MONIES REMAINING FROM PERDIEM

MOVED: COUNCILWOMAN MARY ANN ANTONE

SECOND: COUNCILWOMAN RITA MARTINEZ

DATE: FEBRUARY 09, 1996

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 160.0	1. MARY ANN ANTONE (Nellie Miguel)	80.0	х			
	2. RITA MARTINEZ (Maxine Norris)	80.0	х			
SELLS 314.0	1. JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.)	157.0	х			
	2. LUCILLE ENCINAS (Cynthia Chico)	157.0	x			
SCHUK TOAK 117.0	1. KENNETH J. ANTONE	58.5	х			
117.0	2. MARY JANE JUAN-MOORE	58.5	x			х
SAN XAVIER 142.0	1. DENNIS RAMON	71.0	X			
142.0	2. TONY BURRELL ()	71.0	x			x
BABOQUIVARI 257.0	1. EDWARD KISTO (Idella Stanley)	128.5		Х		a contraction of the
201.0	2. FRANCES MIGUEL (Kenneth Chico, Sr.)	128.5		x		
GU ACHI	1. ALEX J. RAMON (Marian Johnson)	93.5	х			Х
187.0	2. WILLARD ANITA (Louis Johnson)	93.5	x			
PISINEMO 135.0	1. JOHNSON JOSE (Roseleen Antone)	67.5		Х		
155.0	2. BARBARA SALVICIO ()	67.5		X		
SAN LUCY 105.0	1. ALBERT MANUEL, JR.	52.5	х			
105.0	2. JOHN RENO (Mary Hoffman)	52.5	x			Х
GU VO 134.0	1. MICHAEL FLORES	67.0		Х		х
154.0	2. FERN SALCIDO (Larry Montana)	67.0		Х		
HICKIWAN	1. LLOYD FRANCISCO .	71.0	Х			ar B
142.0	2. ALEX JOSE ' ()	71.0		х		
CHUKUT KUK 183.0	1. KENNETH WILLIAMS	91.5		Х		Х
165.0	2. DAVID GARCIA (Marvin Thomas)	91.5		х		
	TOTAL	1,876.0	980.0	709.0	187.0	[05]